a) Function Family: QU ﬂdmﬂ C

b) Equation of Parent Function: X

c) Vertical translation: 2 unit up or
d) Horizontal translation: 3 unﬁsr right

e) Reflection over x-axis or y-axis? NO
f) Equation of Function: f{x) = ( X+ 3 )1- 2,
g) Domain: X & '{-}2

h)Range: 4 > - 2 _
i) Eljd behav‘i?r: | ' k«/{

Asx = o, fix) > = e 4
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Asx— —o, fix) & o

a) Function Famil?: EWDWG“\
b) Equation of Parent Function: f(x) = 2 G)x

c} Vertical translation: : 2 units up o

d) Horizontal translation: O _units left or right

e) Reftection over x-axis or y-axis? ™ O

f) Equatioh of Fuﬁc-ti;:m.: fo) = 2(':'{) K -5 )
g) Domain: y < [&

h) Range: lﬁ v-5

i) End behavior; "~

a) Function Family: A\2A R
b) Equation of Parent Function: = X

¢) Equation of Function: fix} == "2 X 4+ “

d) Domain: 6@
e) Range: . 6‘(2
f) End behavior:
as x-—) =9, Ld—? - oo
as %— - 0, L«g-‘! =0




The admission rates for an amusement park are as folfows: ,
* Children 5 years old and under - EREE - L 6\92"26{
* Children between 5 years and 12 years - $10
* " Children between 12 years and 18 years - $25
*  Adults (18 years and above) - $35
Write a piecewlse function that givé§the admission price for a given age.
| o OfXx4s
Fix)= o, sex=12
7 25, 12<x =g
_ 25, x» 1R

Write a piecewise function that describes the situation. -
For a cellular data plan, $50 per month buys 400 minutes. Additional time cost $0.30 per minute. Let the munthlv
cost C(x) be the function of the time x.

Ctx)* 50 : G‘Xé%oo
| SOt . 3(X-%00) , x YH4OO

10.

(x2 -1, x<0
For the following function, f(x) =42x -1, 0<x <5
- 3, x>5

Evaluate f(-2) + (0) - f(5). _ -2+ F(o)-F(S)
F(-2) = ()%~ = 4-{ =32 : '3 (1) -

FO) = ()%~ = o-| =-) y —
f(e) = 2(5)- | = o=l = q %]

il




Sohve e'ach inequalitv.and g-raph it's solution on a-r;umber line.

a) |7x+4|=74

Txr Yz Ty Tx+ Y=Y
T% 270 Tx =703 P E—"
' <= 17% -1% [
X Z\0 = = =R o
] L i
by 2> 5
12+2x |2 1D |
2+3% 2\ 0 213x £-10 i~ — B2
3x 29 Ix<-19, -4 Blax 2.7
3% XE -y
9 7[f[-9<12
A,
13 |<:Ln
.
|31<3
X -9
33 Z5-3
X <9 7 -9

Match the following plecewlse functions to th eirEra phs.

Function A = Graph & Function B = Grapl"l l Function C = Graph Z

A _ =0, yu 2 B =-dx=1,x=2 C =i, PR
) [(r+lj".x2—2 fl) = —z+4 x>2 =4 x-2, —2<x=<z
—2r+ 4, re2
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